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Ex 3. Given: 5 = 5.61 — 0.13z and the coefficient of determination is 0.9522.

ax=age of Toyota Corolla (years)

y=resale value ($1000s)

2
3
5
7
10

5.4
5.1
4.9
4.8
4.2

a) Is the linear association positive or negative?

b) Find the correlation coefficient.

¢) What % of the variation in y is accounted for by the best-fit line?
d) What resale value is predicted for a 4-year-old Corolla?
e) Why should we not predict the resale value for a 1-year-old Corolla?
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d) What resale value is predicted for a 4-year-old Corolla?

e) Why should we not predict the resale value for a 1-year-old Corolla?
f) What age corresponds to a resale value of $4,5007

g) Interpret the slope of ¢
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